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Important Questions of General Science PDF (Questions)

Q1. What is the minimum distance (in metres) required to hear an echo?
TF S A F o straeaes e g (e #) 7 82

(a) 10

(b) 13

(c)17

(d) 21

Q2. Why does a Black board appears black in colour?

TS A% d18 QT H HAT 491 f@ar g2

(a) It reflects black colour /37 TSl 337 T F9qTAT 8. o
(b) It absorbs black colour /g FTer T &I AALUT FHaT 2.

(c) It reflects all colour /ag THT 37 &1 TATAT 2.

(d) It absorbs all colour /og THT T &7 AT FLAT &

Q3. Which of the following instrument is used to oil Water Tension?
AT ST q91E 1 7T« & forg Rafafea d s SYART fahaT SITaT 82

(a) Photometer,/ SaTertH o

(b) Pyrometer/ 3<TIHT 6 9

(c) Psychrometer/ ‘r'l'l"i‘sﬁ'lﬁ'd'(

(d) Tensiometer/ i

(b) Boyle/aaet

(c) Newton/ =J&
(d) Watt/aTe

Q5. Which one of the following is a bad Thermal Conductor?
Rafafeaa & & 919 a1 @ue JHia Fewe §?

(a) Aluminium/ Q?ﬂ'ﬁﬁw
(b) Copper / Fu<

(c) Glass/ =71

(d) Silver/ frea<
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Q6. Which one of the following atomic plants of India is located in the IV Seismic Zone?

AR FT e & § i a7 ICH1 637 § [V gadt &7 § Ruq g2

Adda 247

(a) Kaiga /3T 9 ’ Test Series
(b) Kalpakkam /&<T9gH .
(c) Narora,/9 SSC Previous Years' Papers
(d) Tarapur/dTXI9x S

PREMIUM PACKAGE
Q7. The oil in the wick of an oil lamp rises up due to - geeiercal RIS ECR- LoD
T AF F A FTdT A A 6 @ BT HTT graT &- 250+ Total Tests
(a) Capillary action/g 2 R v~ 100 + CGL Tier-l & Tier-1l Mocks

v 10+ CPO Mocks

(b) Low viscosity of oil /ae #T FH f=af=rarge v* 140+ CHSL Mocks
(c) Gravitational force / T&EATHYI T BILINGUAL

(d) Pressure difference / €19 AT

Q8. The working of a rocket is based on the principle of -
T Udhe i FTATEIT FT AFIT FT AIR G -

(a) Conservation of momentum / FaT &7 HLEA ‘ o

(b) Conservation of mass / FeFHTH T G

(c) Conservation of energy / ST &l HL&A0 0.

(d) Conservation of angular momentum / FT913 HeRT FRHT

Q9. What is absolute zero temperature?

e = qraeT =T |2

(a) The starting point of any temperature s€ale ot TIHTH FT ATTF 1%'5;

(b) Theoretically the lowest possible téthperature / HGTd® &7 F TaH FF GAT JTTHTH

(c) The temperature at which the®#apeur of any liquid substance is condensed. / AT\ fore o< foret off

T TaT T aTeq g
(d) The temper ich all material in vapour form. / 9| for& aX Tt q=Te amoq &9 | @%f %

Q10. Rectifiers.c v .
(a) high voltageto low voltage / 37 FTeesT &l FH Flecsl H
(b) low voltage to high voltage / FH ATeesT &l 3g Alees |
(c)ACtoDC /ACHI DCH
(d) DCto AC /DCHT ACH

Q11. Gravitational force is maximum at which of the following place?
A & F fe e ox [Ty ao sfdea 82

(a) At equator (T T@T UX)

(b) At tropic of cancer (F ¥@T UT)

() At tropic of Capricorn (A=< ¥@T I¥)

(d) At poles (AT )
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Q12. Which of the following device is used to measure humidity?

o Rarsw # & =t ar T #1 71a9 F org ST G smar @2
(a) Hydrometer (ZTZSIHIET)

(b) Hygrometer (3T&aTHTIT)

(c) Odometer (ATEHTET)

(d) Anemometer (THIHTHIEY)

Q13. Which of the following is not a vector quantity?
TTH | W 9T T A9 ATAT Aol o7

(a) Momentum (&aT)

(b) Displacement (f=Td™)

(c) Torque (ZTF)

(d) Speed (31fa)

Q14. At what temperature (in Fahrenheit) pure water freezes?
T ATIHT 9T (FRARTSE #) $[E T ST SI1aT 87

(a) 32

o

(c) 48

(d) 37

O

@
Q15. What is the other name of Galileo's law of falling bo ?
F<fifer F R arer [ReRTat F T 7 0 T FqT 52

(a) Law of motion /T T A
(b) Newton's first law /=& T Tg<IT HlIA
(c) Newton's second law/ ~J& T THIT FlId 0

(d) Newton's third law/ ¥ T TTEIT FTHA

Q16. Laughing gas used as anesthesia by doctors is-

F 1T ¥ & T F SYINN T ST ATSAT R 376 4T 8-
(a) Nitrogen/
(b) NitrogenOx
(c) Nitrous Oxide
(d) Nitrogen dioxi

Selod STEAFI1SS

Q17. Easily soluble in water-
I § AT 8 s §-
(a) Carbon /&

(b) Nitrogen /ATSZISIA

(c) Ammonia/3THTHAT

(d) Iodine /3=

Q18. Which is the purest form of iron
A T 999 L5 T 74T &-

(a) Cast iron/=T&C ATIATT

(b) Pig iron/fa T s

(c) Wrought iron/%Tee S

(d) Steel /&
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Q19. An aqueous solution of copper sulphate is acidic in nature because the salt undergoes-
FIIT GFhe T TH STATT TIA TP | AT graT g FA1%h THE Fl -

(a) Dialysis /312 graT &

(b) Electrolysis/fa=[aa=re= grar g

(c) Hydrolysis /ST €3 gIaT §

(d) Photolysis/®TerATee graT &

Q20. Sodawater-obtained by passing carbon dioxide in water is:
T § F FHTAT STIAFATES O H T FISTE1e 47 &

(a) An oxidizing agent/Te ST FHTIT Tsie

(b) Basic in nature/Y&Hd § &TT

() Acidic in nature/SHfd # sTwef

(d) Reducing agent/3q=Td HTLh

Q21. Who invented first working laser?
e agaT afeeT A< T sfaswe fFam? o
(a) A. H. Taylor/ T U= ¥ ‘ '
(b) W. K. Roentgen/ & & el
(c) T. H. Maiman /& U= ATSHTA @
(d) Fred Morrission/ %€ ®iva+
e vehicle is called .
FgT ST §

Q22. Meter in a vehicle that calculates distance co
T qTe § HIe< ST AT ST Fa< gL it 0T
(a) Speedometer /TfEHIET

(b) Odometer/3AETHIZT

(c) Thermometer /FHTH 2T

(d) Kilometre/

Q23. Whatis the
CCIE I E ik

(a) Newton /sZed
(b) Weber/aa<
(c) Pascal /9T&het
(d) Henry/ga<t

ressure?

Q24. Reflection from a smooth surface like that of a mirror is called reflection.
T TY il dg Ta (el gag q vfafda yfafsa Fgr smar g

(a) Regular / fFarfaa

(b) Irregular / srt<ataa

(c) Diffused/ fF&Ra

(d) Fused/ & Tiera
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Q25. What is the unit of resistance?
wiare & TS FaT 82

(a) Ohm/ sH

(b) Farad/ <=

(c) Henry/ ga<t

(d) Weber/ aa<

Q26. Which is the most abundant element after Oxygen?
ARSI & F1S G99 TG ATAT § YT ST ATAT T i 4T 82
(a) Silicon / f&rfert

(b) Carbon / FTa+

(c) Sodium / TI=2=w

(d) Chlorine /FATE

Q27. Chemically “Plaster of Paris” is:

"TATEY % URE" T €9 F47 8

(a) Calcium Sulphate /Ffeer T Aotha o
(b) Calcium Carbonate /F{eer@® FTaTHE o

(c) Calcium Oxide / Ffeera sitaaTZT

(d) Calcium Oxalate /Ffearad SFdTAS 0‘

Q28. Bronze is an alloy of copper and- 6

Feairde_ drferagd -

(a) Tin / for

(b) Aluminium / Wﬁﬁ'ﬂl’ 0

(c) Silver / Ha¥
(d) Nickel / fereet

Q29. Which of the
fRuffeada
(a) Brass /
(b) Bronze /
(c) German Silver/ IECES

d) Delta Metals/ ST
N >
Q30. Which metal exists as a common component in Brass,

Bronze and German Silver?

fraer, FET i STHA TS H TF A qeT & €9 § HI T 47 "N

wing alloys has a maximum percentage of Copper?

T { R HT Aferwas wfaaa 82

8?

(a) Antimony /U1

(b) Copper/aidT

(c) Tin/fe 100 TeroEHt Heftuer 29w 1 vt
(d) Zinc/SrEaT 20+ TETEHT Hisftue fEar

Torma aet o 9O 2015-18

2t areaw @ 699
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